
27 flowers are evenly placed in 9 bowls. How many flowers in each bowl?

The total mass of 9 identical drums is 81 kg. What is the mass of each drum?

There are 36 chocolates in a box. Shared equally between 9 children, how many chocolates will 
each child get?

Dividing by 9

Jessie saved £45 in 9 weeks, saving the same amount each week. How much did Jessie save 
each week?

54 children are placed in to 9 equal groups. How many children are in each group?

Mandy earned £90 for working 9 hours. What is Mandy’s hourly rate?

Pack 72 balls evenly into 9 boxes. How many balls in each box?

There are 27 ice creams packed evenly into 9 boxes. How many ice creams in 100 boxes?

The total capacity of 9 identical  bottles is 18 L. How many bottles are needed to fill a 
100 L container?

There are 63 marbles in a bowl. Nine  children take turns picking out a marble at a time until 
none are left. How many marbles will each child have?
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